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CERTIFICATE

TUV AUSTRIA CZECH spol. s 1. 0.
Accredited certification body No. 3220

verifies that

MATTECH, s. r. o.

K Myslivné 2183/7,
708 00 Ostrava - Poruba

has introduced and uses the welding process for

Design, manufacture, assembly, service and repairs of pressure equipment.
Assembly of steel constructions.

Audit Report No.: 229/22/7.2-COV

It has been demonstrated that the requirements of

EN ISO 3834-2:2021 V 3220

have been fulfilled.
This certificate is issued according to certification scheme 6 EN ISO/IEC 17067:2014
This certificate is valid until: 10. 12. 2025

Certificate Registration No.: 15/22/COV
Annex No. 229/22/7.2-COV is an inseparable part of this certificate.

Ing. Roman Valeéek
Manager of Certification Body Prague, 9. 12. 2022
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ANNEX TO PRODUCT CERTIFICATE
Reg. No.: 15/22/COV of 9. 12. 2022
Scope of activity pursuant to EN ISO 3834-2:2021
1. Type of product(s): Pressure equipments, steel constructions
2. Product standards: CSN EN ISO 5167, ISO TR 15377, CSN 257711,
CSN EN 13445, CSN EN 12952,
CSN EN 12953, CSN EN 13480, SN EN 1090-2
3. Groups of basic materials (TNI CEN ISO/TR 15608:2008): 1.1, 1.2, 1.3, 4, 51,52, 53,6, 8.1,
82,92 101
4. Welding process(es) and related processes:
| Metod Materials group
| 141 1.1,1.2,1.3,4,51,52 53,6,8.1,8.2, 9.2, 10.1
111 1.1,1.2,4,5.2. 6.1, 8.1
141+111 1.1,1.2,1.3,4,51,52,5.3,6.1,6.4, 8.1
5 Welding supervisors: _
Name: Qualification level: | Job function | Level according to
1ISO 14731
Josef Jalllvka EWE/CZ 03025 welding supervisor | 6.2.2
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il Prague, 9. 12. 2022 Ing. Roman Valegek

Manager of Certification Body

This annex is an inseparable part of Welding Process Certificate Reg. No.: 15/22/COV of 9. 12. 2022.
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